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1- Choose the correct answer. (12x1=12) _ujﬁ,/]l);fﬁvu‘fg/u -1
L. Word "Atomos" is: -« Atomoss? 1
Urdu word g, (D)  Greek word iy (C) Latin word ;,JJU{’U (B) English word J,,JJ“@; (A)
2. The particles present in the nucleus are called: _M;Z,Mﬁ/y_uufaguﬁu%{,j 2
Protons 7‘,1",4 (D) Electrons -,',/«?; © Celeons sy (B) Nucleons 7,£,; (A)
3. Quantum means: e 3
Variable energies i (B) Fixed energy i1 (A)
Force _s.,é (D) Enthopy Qu?’u ©
4. Rutherford's atomic theory was based upon: S aE IS A
Quantum theory u’/,ffr"]/ (B) Classical theory (§,.# fri5 (A)
None of these %1/ *ui (D) Darwin theory §,.% a5 (C)
5. Which one of the following have lowest energy value? S’Lguf,,},&jlﬁ;—,_/u/;uql;gu S
N (D) M (C) L (B) K (A)
6. K shell has sub shell? e K6
df (D) df (© s,p (B) s (A)
7. No of subshell in L shell are: _4_,|,JJJ./“E,/U:J§L 7
4 (D) 3 (© 2 (B) 1 (A)
8. How many electrons can accommodate in M shell? szgw,/"?uéfu:‘fM 8
32 (D) 18 (O) 8 (B) 2 (A)
9. Which isotope is use for the production of energy is? _LL?,;)JT[JUL}[JL";'léLL/(’,.%(;/"LU:J‘:’@/J 9
P-32 (D) U-235 (C) 1-131 (B) Ba-141 (A)
10.  Which type of radiation emits from S-90? ?@&n@;&fild}“/g}?ﬁ‘fc s-90 -10
Sigma (£ (D) Gamma (-~ (C) Beta ¢ (B) Alpha i (A)
11 Which one is radio active isotope? S I T ) 11
H0 (D) PO (© 20 (8) 1O
12. 12

When U-235 breaks up it produce:
None % 4 (D)

Protons y‘j,4 ©

U e U199 U-235_2

Neutrons 3,2y (B) Electrons y‘,}?u (A)
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(Part-1 -Jsl..«)
2- Answer the short questions. (5x2=10) ez B LSt 2

ii.

iii.

iv.

ii.

iii.

iv.

ii.

iii.

iv.

What is the mass of canal rays?

How was it proved that the whole mass of an atom is
located at the center?

How does electron differ from a neutron?

Write down two observations of Rutherford atomic
model.

What are the nucleons?

Answer the short questions.

What are three things must keep in mind during writing
electronic configuration?

An element has 5 electrons in M shell. Find its atomic
number.

Write electronic configuration of chlorine atom.

Write down the electronic configuration of fluorine and
Neon.

Write down the electronic configration of argon.

Answer the short questions.

Write the Isotopes of carbon.

Why do the Isotopes of an element have different
atomic masses?

How mass number of same element are different?
Write down three isotopes of Uranium.

Write two uses of Isotopes.

(5x2=10)

(5x2=10)

(Part-I1 _r,;,..a?)

Attempt given long questions.

5(a)
(b)

6(a)

(b)

Who discovered proton? Discuss its properties.

How Rutherford discovered that atom has nucleus
located at the centre of the atom?

What do you mean by electronic configuration? What
are basic requirements while writing electronic
configuration of an element (atom)?

What is an isotope? Describe the isotopes of hydrogen
with diagrams.

(2x9=18)
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